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B.Com. (Part - I) Examination, 
Mar.-Apr., 2023 

Paper :I 

NJ-1191 

BUSINESS MATHEMATICS 

marks. 

Time Allowed: Three Hours 

J-1191 

Maximum Marks: 75 

Minimum Pass Marks : 25 

Note : Answer all questions. All questions carry equal 

^Ors-I/ UNIT-I 

Two numbers are such that 4 times of the 

smaller is 5 less than 3 times of the larger but 

sum of the numbers is greater than 6 times their 

difference by 6. Find the numbers. 
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Calculate the amount and present value of an 

annuity immediate of 2,000 for 10 years, if the 

(4) 

rate of interest be 5% per annum. 

aNT ? 
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^oT-IV UNIT-IV 

At present father's age is thrice than that of 

his son. 6 years back his age was four times 

.than that of the son. What will be the ratio of 

their ages after 6 years ? 

(b) 15 3IGAT fo d o 12 U IH RO 14 

NJ-1191 

(5) 

15 men plough a land in 14 days working 12 

hours daily. How marny days will be taken by 

21 men to plough the same land, working 

10 hours daily ? 

34YaT /OR 

The average age of 6 children is 7 years. If 

their father's age is taken into account the 

average age increases by 5 years. Find out 

father's age. 

The consumption of milk was 120. It was 

increased to 150. What is the percentage 

increase in consumption ? 
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Mr. Deepak is paid commission of 5% on cash 

sales and 4% on credit sales. If on a total sales 

of 50,000 he is paid2,400, find the amount of 

cash and credit sales. 
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Determine an initial basic feasitble solution of the 

following problem using Vogel's approximation 

method : 

Ware 
Market 

house 

W, 

W 

W3 
Demand 

NJ-1191 

M, 

21 

17 

(7) 

32 

06 

16 

18 

27 

10 

M 

15 

14 

18 

12 

M, 

03 

23 

41 

15 

Supply 

11 

13 

19 

43 

2,400 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

